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3 The diagram shows a food web in the sea aroun

an island. a Fishing boats have decreased the number of

herring in the sea. Explain why that could alfect

the number ol offspring pulfins can raise. (2]

b Which animals have a bigger food supply
. Y rh 2
now there are fewer herrings: (1]

dolphin

Global warming is expected 10 reduce the biomass

l wna . hvtoplankton in the oceans. What elfect will
‘f:s ( f;:al‘: IQ;.\-S on the rest of the food web? [1]
pufhn’a !
herring The number of offspring puffins can raise could
fall because there are fewer prey for them to catch.
! » b Now there are fewer herrings, sharks have a
| * shark bigger supply of zooplankton.
zooplankton ¢ If global warming reduces the biomass of
' phytoplankton in the oceans, populations will
ohytoplankton drop in the rest of the food web because there will
e less food (energy) available o feed them.




& The diagram shows the food web in one pan

ol a forest.

a Which organism is both predator and prey?

b Which organism’s population will have
the smallest biomass?

¢ Explain why the biomass of secondary
consumers is always lower than the biomass
ol primary consumers.

[

B
A

The biomass of secondary consumers is always
lower than the biomass of primary consumers
because primary consumers use most of the
energy in their food for respiration. Only a small
percentage 1s passed to the next trophic level.




$ Which of these statements about food webs
are correct? [3]

a Producers form the hirst trophic level.
b Some food chains start with a primary consumer.

¢ Most food chains rely on the Sun as the source
of their energy.

d Herbivores form the second trophic level.

Energy is transferred from tertiary consumer
to producer.

5  Statements a, ¢, and d are true.




(9 The diagram below shows a pyramid of biomass.

4
3
2

1

Match each of the following organisms to the
correct trophic level:

a insect

H.-'-"-I'H'EIh

b frog
¢ snake

d prass




The diagram shows pvramids ol biomass for two
human food chains.

7 The same area of land can feed more people if
sheep Iht:i gal cereals instead of meat because cereals

A occupy 4 lower trophic level. Enerey is lost at
each trophic level (through respiration) so the

il total biomass in higher trophic levels drops.

Explain why the same area of land can feed
more people if they eat cereals instead of meat, [3]




he diagram below shows how minerals are

ﬁ consumers —1
dead plants

recvcled.

producef 2 and animals 9a Decomposition.
b Decomposers.
acald ?J ¢ Any two from: bacteria; fungi; invertebrates such
mn
in soul 45 WOrms, slugs,, snails, and ﬂ},r larvae.
Name the process repr esented by arrow A. [1] d Decomposers are recycle and
a Name -

clean the environment from dead

} . ess A? [1]
arrics oul proc plants and animals and their wastes

b What type ol organism ¢
€ Name two examples of this type of organism. [2]

d Explain why process A is vital 1o life
an Earth. [2]




19 The diagram below shows how carbon is recycled
by living things

p—  CAIDON
( - mnhe &—
! atmosphere
Al |B A C
carbon D . carbon in
in plants “ animals
3]
E
carbon
~———— in dead plants

and amimals

Choose the correct arrow to represent each of
the following:

a photosynthesis (1]
b animal respiration (1]
¢ leeding (1]

d the action of decomposers. (1]

an o
monw




